’1J DELHI PUBLIC SCHOOL, BHILAI
Date : 20.02.2024 ANNUAL EXAMINATION  2023- 24 Time : 3 Hrs.
Class : VI Subject : English Max. Marks : 80
e Instmc;i-ons : B T o @5%
e Attempt all the questions in each section before going to the next section in the same order. & .5 .
e All the answers must be correctly numbered and neatly written down. Hinds
¢ Do not copy the questions. 9 et
e The paper consists of 4 sections:
Section — A — Reading : 16 Marks @ G- K-
Section — B — Writing : 18 Marks © Sansk.
Section — C — Grammar : 16 Marks @ So. Set.
Section — D — Literature : 30 Marks @ Madhe -

SECTION A: READING (16 Marks)

A.1 Read the following passage carefully and answer the questions that follow: (8 marks)

1. Health is a state of complete physical, social and mental well - being. It is a condition where mind,
body and spirit are free from illness, injury and pain. Health is as valuable as money and without it,
you would not enjoy anything in life.

2. Without good health, neither people will work efficiently, nor will students study properly. One
cannot work if one is unwell. Similarly, one cannot work or do anything if one is depressed
over something.

3. Children also need to be healthy as it is vital for their growth and development of mind. They
should be healthy as they are required to remain alert and attentive in classes. There are various
ways by which people can live a good and healthy life. Many people do not get enough time for
physical exercise. Thus, they become obese, suffer from hypertension and diabetes. Even children
like to sit in front of their computers and avoid outdoor games and activities.

4. People should visit a gym or go for morning walk at least every other day and work out so that
they can burn fats deposited in their body. Children should play outside rather than sitting and
playing video-games in their houses.

5. They should drink plenty of water, it keeps the skin healthy and burns body fats. Proper sleep is
also important as our body needs to relax and reduce stress. We should eat proper balanced diet.
Processed food and fast food are immensely popular among the young generation. It has been
found that such foods are the culprits behind obese body. Eat more fruits, vegetables and avoid
fatty foods.

Answer the following questions:

(a) What comparison has been made between health and money in para 1? (1)
(b) As explained in para 3, why do children need to be healthy? (1)
(c) What happens when people do not get enough time for physical exercise? (1)
(d) How can one burn fats deposited in their body? (1)
(e) According to the passage, why is it necessary to drink plenty of water? (1)
(f) Why is it important to have a proper sleep? (1)
(g) Find a word from para 3 which means the same as ‘important’ — (1)
(1) healthy (ii) vital (iii) development (iv) attentive
(h) Find a word from para 5 which is the opposite of ‘old” — 1)
(i) important (i1) immensely (iii) processed (iv) young
A2 Read the poem carefully and answer the questions that follow: (8 marks)

(1) If you’ve tried and have not won,
Never stop for crying;

All that’s good and great is done
Just by patient trying.

(2) Though young birds, in flying, fell
still their wings grow stronger,
And the next time they can keep
Up a little longer.

(3) Though the sturdy oak has known
Many a wind that bowed her,
She has risen again and grown
Loftier and prouder.
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(4) If by easy work you beat,
Who the more will prize you?
Gaining victory from defeat,
That’s the test that tries you.

Answer the following questions:

(a) What should we not do if we have tried but not won? 1)
(b) According to the poet, how has the great and good been done in this world? (1)
(¢) What happens to the young birds when they try to fly? 1)
(d) What does the sturdy oak do after being bowed? (1)
(e) Pick out two pairs of thyming words from stanza 1? (1)
(f) What is the test that tries each one of us? 1)
(g) Which word from stanza 1 means the same as ‘composed’ — (1)
(i) crying (ii) great (iii) patient (iv) trying
(h) Find a word from stanza 4 which means the opposite of ‘defeat’ — 1)
(i) beat «(ii) prize (iii) victory (iv) test

SECTION B : WRITING (18 MARKS)

You are Tarun /Tanvi, a student of class V1. You have lost your Fastrack wrist watch in the school

premises. Giving details of the watch, draft a notice in about 50 words to be put up on the school
notice board. 3

Your school celebrated its Annual Sports Day on 20 December, 2023. You are Kavya / Karan the

editor of school magazine. Write a report to be published in your school magazine in not more than
100 words. Use the hints given below: (5)

Hints — celebrated Annual Sports Day with great enthusiasm — Manjeet Kaur Indian sprint athlete
from Punjab- chief guest- began with march past — lighting of the sports torch- various sports
events held- most exciting relay race- prize distribution ceremony — concluded with a
speech — National Anthem.

You are Sudeep / Shreya living in school hostel at 15/4 Malviya Nagar, New Delhi. Write a letter to

your mother informing her about the results of your Annual Examination. Use the hints given below.
(100-120 words) 8)

Hints — was preparing for the Annual Examination — happy to share — secured first position in
class — hard work, followed a routine — key to success — teachers — very supportive and
encouraging — sense of achievement and happiness — good wishes ,blessings and prayers.
OR
Write a short story in about 100 — 120 words using the hints given below. Also, give a suitable title
to it.

Hints — A man had four sons — quarrelling with each other — father was worried- tried to convince of
their folly — gave bundle of sticks- each to break it -but failed-untied the bundle — each stick
broken — united they would be stronger.

SECTION C : GRAMMAR (16 Marks)

Fill in the blanks with appropriate adjectives of quantity: )
(a) We have ............ milk to make the mango shake.

(i) some (i1) any (1ii) many (iv) none
(b) Weate .....ui the leftover food the following day.

(i) all (ii) large (ii1) less (iv) some
Complete these sentences using appropriate modal verbs: (2)
177 grRR squirrels fly? (ability)

(i) can (i1) might (ii1) may (iv) must
(b) Intense light .............. hurt your eyes. (possibility)

(i) may (ii) should (iii) must (iv) none of these
Fill in the blanks with appropriate adverbs of time: 2)
() ESh B v ssrmme s )

(i) tomorrow (ii) yesterday (iii) well (iv) bravely
(b) Let’s start for home .......... ’

(i) now (ii) never (iii) rarely (iv) generously
Fill in the blanks with appropriate coordinating conjunctions: 2)
(a) Someone pulled the chain, .......... the train came to a halt.

(1) so (ii) when  (ii1) yet (iv) or
(b) He had high fever , ............ he went to school in the morning.

@) so (ii) since (111) yet (iv) or
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Change the following sentences into passive voice : )
(a) Veer is writing a poem.
(b) Amrita sang a beautiful song.

Fill in the blanks with appropriate preposition of time: 2)
(a) The shop closes ........ midnight. '
(b) Her birthday is ..... 20" September.

Change the following sentences into indirect speech : 2)
(a) The teacher said, “Geeta will read next.”
(b) Mr Balraj says, “It is good to watch educational programmes on television.”

Do as directed : 2)
(a) Give the meaning of the following proverb:

Two heads are better than one
(b) Write an idiom which means : to eat a lot

SECTION D: LITERATURE ( 30 Marks)

Read the following extracts and answer the questions : (3x3=9)
(I) But only words can free a thought
From its prison behind your eyes
May be your mind is holding now
A marvellous new surprise!
(a) What can free a thought from its prison?
(b) According to the poet , what is your mind holding?
(c) Name the poet.
(i) Mary O’Neill (ii) Premchand  (iii) Rabindranath Tagore

(I1) “I saw the bird flung nearly twenty feet across the garden. It fluttered about for a while, then lay
still.”
(a) Who does ‘I’ refer to?
(b) Which bird is referred to in the above line?
(c) Name the Lesson
(i) A Different Kind of School (ii) Fair Play (iii) The Banyan Tree

(II1) When at four in the afternoon I come back from the school,
I can see through the gate of that house the
gardener digging the ground.
(a) What time does the poet come back from school?
(b) Whom does he see through the gate?
(c) What is the gardener doing?

(1) Plucking flowers (i) Digging the ground  (iii) Walking up and down
Answer any three of the following questions in 30- 40 words: (2x3=6)

(a) How can we find beauty in ourselves?

(b) In the lesson ‘A Different Kind of School” what was the purpose of these special days?
(c) What was Algu’s verdict as head panch? How did Jumman take it?

(d) Why did the poet say that “English is a wonderful game™?

Answer any one of the following questions in 75 words. (1x5=5)
“God lives in the voice of Panch”. The aunt said. What did she mean?

OR
“Each term every child has one blind day, one lame day ....” Complete the line. Which day was the
hardest? Why was it the hardest?

Answer any three of the following questions in 30-40 words: (2x3=6)
(a) What made Ali Shar a poor man?

(b) Where did Ali Cogia keep thousand pieces of gold?

(c) How did the carpenter trap the lion?

(d) Why was the camel afraid of man?

Answer any one of the following questions in 75 words: (1x4=4)
How was Zumurrud received at the gate of the city and why?

OR '
How did the merchant cheat Ali Cogia?
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DELHI PUBLIC SCHOOL, BHILAI

Date : 28.02.2024 Annual Examination 2023-24 Time : 3 Hrs.
Class : VI Subject : Mathematics Max. Marks : 80

ooooooooooooooooooo

CLTTTTTTL L e e .

This Question paper has 5 sections A, B, C, D and E.

Section A has 20 MCQs carrying 01 mark each.

Section B has 5 questions carrying 02 marks eack.

Section C has 6 questions carrying 03 marks each.

Section D has 4 questions carrying 05 marks each.

Section E has 3 case based integrated units of assessment (04 marks each) with sub-parts of the values of
1, 1 and 2 marks each respectively.

All questions are compulsory. However, an internal choice has been provided in 2 questions of 5 marks,

2 questions of 3 marks and 2 questions of 2 marks. An internal choice has been provided in the

2 marks questions of Section E.

Write units, formulae etc. wherever required. Also draw neat figures.

SECTION-A
(Section A consists of 20 Multiple Choice Questions of 1 mark each)

-------------------------------------------------------------------------

Choose the correct option:

01.

02.

03.

04.

0s.

06.

07.

08.

09.

10.

i

12,

13.

Where will the hour hand of a clock stop, if it starts from 6 and turns through 1 right angle?
(@ 3 (b) ° (©) 12 id) 6

An angle whose measure is greater than that of a right angle and less than a straight angle is
(a) Acute angle (b) Complete angle (c) Obtuse angle (d) Reflex angle

What fraction of an hour is 40 minutes ?
@) > ®) © (d) None of these

19 g .
Express ~asa mixed fraction -

@ 33 (b) 43 (©) 23 @ 3%

Express 2 g as kg using decimals .
(a) 0.02 kg (b) 0.002 kg {c) 0.2kg (d) 0.0002 xg

Sum of 2 and .75 is
(a) 0.95 (b) 0.77 (c) 2.75 (d) 0.752

Value of 10 -1.251s
(a) 8.75 (b) 9.25 (c) 1.15 (d) 0.25

Representing a data through pictures of objects is called ;
(a) Bar graph (b) Tally marks (¢) Pictograph (d) None of these

Seema threw a dice 5 times and noted the number appearing each time as 1, 2, 4, 5, 4. The aumber that
appeared maximum number of times is

(a) 2 (b) 4 (c) 1 (d) 5

Following is the choice of sweets of 6 students of class VI.
Ladoo, Barfi, Ladoo, Jalebi, Ladoo, Rasgulia. Which sweet is preferred by most of the students?
(a) Ladoo (b) Barfi (c) Jalebi (d) Rasgulla

The perimeter of a regular pentagon with each side measuring 3 cm is
(@) 12cm (b) 6cm (c) 24 cm (d) 15cm

The area of tae square whose side is 5 m is
(a) 10sgcem (b) 20 sqcm (c) 25sqcem (d) 15sqem

The side of the square whose perimeter is 20 m is .
(a) 5m (b) 100 m (c) 40m (d) 60 m
Contd...2



14.  Which of the following represents 6 X X X
(a) 6 —x ) 6+x © = (d) 6x

15.  If each match box contains 10 match sticks, the number of match sticks required to fill n such boxes is-
@) 10+n (b) 10n ) 10—n (d) =

16.  The number of days in w weeks is —
(@) 7+w (b) 7—w (c) 7w @ =

17.  Which of the following is in proportion?
(a) 30,40, 60 and 20 (b) 30, 40, 45 and 50 (c) 4,6,8,16 (d) None of these

18. If2kg:80kg::25g:1000 gthen
Middle terms Extreme terms
(a) 2 kg, 1000 g 80kg,25¢g
(b) 2 kg, 80 kg 25¢g,1000 g
(c) 80kg,25¢g 2kg, 1000 g
(d) None of these

Directions : In the question number 19 and 20, a statement of Assertion (A) is followed by a statement of
Reason (R), choose the correct option.

(a) Both Assertion (A) and Reason (R) are true and Reason (R) is the correct explanation of Assertion (A).

(b) Both Assertion (A) and Reason (R) are true and Reason (R) is not the correct explanation of Assertion (A).
(¢) Assertion (A) is true but Reason (R) is false.

(d) Assertion (A) is false but Reason (R) is true.

19.  Assertion (A) : The rule, which gives the number of match sticks required to make the match stick
pattern I.., is2n .
Reason (R) : For n = 1, the number of match sticks required = 2 X 1 = v

70.  Assertion (A): 6: 9 isequivalentto 2 : 3
Reason (R) : Two ratios are equivalent if the fractions corresponding to them are equivalent.

SECTION -B
(Section B consists of 5 questions of 2 marks each)

21.  Find the equivalent fraction of % having numerator 27.

23 Find the sum 0.75+10.425+2
OR
Qubtract : 202.54 m from 250 m

73, Eksa collected data for size of shoes of her 10 friends. Arrange the size of shoes using tally marks.
ST 5.8, 156,71

24, If there are 50 mangoes in a box, how will you write the total number of mangoes in terms of the
number of boxes? (Use any variable for the numter of boxes).

25.  Length and breadth of a rectangular field are 50 1 and 15 m respectively. Find the ratio of length to the
breadth of the field.

OR

In a year. Seema earns < 1,50,000 and saves T 50,000. Find the ratio of money that Seema earns to the
money she saves.

SECTION : C
(Section C consists of 6 questions of 3 marks each)

26.  Name the type of triangles
(a) ADEF and m £D = 90°
(b) AXYZ withmsY = 90° and XY = YZ
(c) ALMN withmc«L = 30°, mzM = 70° and £N = 80°
OR

Draw a rough sketch of a regular hexagon. Connecting any three of its vertices, draw a triangle. Name
the type of the triangle you have drawn.
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27.  Tlaread 25 pages of a book containing 100 pages. Lalita read % of the same book. Who read less?

; 2 ; :
28.  Sarita bought = metre of ribbon and Lata % metre of ribbon. What is the total length of the ribbon
they bought?

29.  The sale of electric bulbs on different days of a week is shown below :

Observe the pictograph and answer the following questions :
(a) How many bulbs were sold on Friday?

(b) On which day were the maximum number of bulbs sold?
(¢) On which of the days same number of bulbs were sold?

30.  Find the cost of fencing a square park of side 250 m at the rate of 3 20 per metre.
OR

Two sides of a triangle measure 12 cm and 14 cm. The perimeter of the triangle is 36 cm. What is its
third side?

31. Mother has made laddus. She gives some laddus to guests and family members, still 5 laddus remain. If
the number of laddus mother gave away is [, how many laddus did she make ?

SECTION: D
(Section D consists of 4 questions of 5 marks each)

32. (a) Draw a rough sketch of a pentagon and draw its diagonals.

(b) Define a polygon. Name a polygon with 8 sides.

33.  Akash bought vegetables weighing 10 kg. Out of this, 3 kg 500 g is onions, 2 kg 75 g is tomatoes and
the rest is potatoes. What is the weight of the potatoes Z

OR
(a) Nasreen bought 3 m 20 cm cloth for her shirt and 2 m 5 cm cloth for her trouser. Find the total length of
cloth bought by her.

(b) Which is greater? 0.099 or 0.19
(c) Express as metres using decimal = 15 cm.

34. (a) The length and breadth of rectangle is 9 m and 6 m. Find its area.
(b) A table top measures 2 m by 1 m 50 cm. What is its area in square metres?

35. (a) Determine if 30, 80, 40 and 60 are in proportion.
(b) The weight of 72 books is 9 kg. What is the weight of 40 such books?
OR
(i) Ifthe cost of 6 cans of juice is Z 210, then what will be the cost of 4 cans of juice?
(ii) Cost of 4 dozens bananas is Z 180. How many bananas can be purchased for 90?7
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36.

38.

g Tl

SECTION: E
(Section E consists of 3 questions of 4 marks each)

Sharmile invited her friends on her birthday. She divided her cake in 6 equal parts and distributed the
cake among her friends, grand parents and her younger brother.

(a) Sharmila gave one part of the cake to her younger brother. What fraction of cake was given to her

younger brother? (1)
(b) Sharmila invited two of her friends on birthday and gave % of the cake to each of her friends.
What “raction of cake was given to her friends? 1)
(c) What fraction of cake was left for her grandparents? )
OR

What fraction of cake was given to friends and grandparents altogethex?

In a village six fruit merchants sold the following number of fruit baskets in a particular season. On the
basis of their sale they are planning to buy a godown for the next season.
Observe the pictograph and answer the following questions.

‘ o g’l - 100 Fruit haskets%
S i .

-
Ly &
o g}i - Jl
@ g} ?‘ LR
R 0%
XTE
(2) Which merchant sold the maximum number of baskets? 1)
(b) How many fruit baskets were sold by Anwar ? (1)
(c) Find the total number of fruit baskets sold by Lakhanpal and Joseph. 2)

OR

Name the merchants who have sold 600 or more number of baskets.

Pinky runs around a square field of side 75 m, Bob runs around a rectangular field with length 100 m
and breadth 30 m.

(a) What is the perimeter of the square field? (1)
(b) What is the distance covered by Bob? (1)
(c) Who covers more distance and by how much? 2)
OR
If Pinky runs around the square field twice, what is the distance covered by her?
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DELHI PUBLIC SCHOOL, BHILAI

Date : 05.03.2024 Annual Examination 2023-24 Time : 3 Hrs.
Class : VI Subject : Science Max. Marks : 80

General Instructions :

This question paper consists of 39 questions in 5 sections. Section : A, B, C, D and E.
All questions are compulsory.

Section A consists of 20 objective type questions carrying 1 mark each. Students have to write correct
option and answer both.

Section B consists of 6 Very Short questions carrying 02 marks each. Answer to these questions should
be in range of 30 to 50 words.

e Section C consists of 7 Short Answer Type Questions carrying 03 marks each.
e Section D consists of 3 Long Answer Type Questions carrying 05 marks each.
e Section E consists of 3 Source Based units of assessment of 04 marks each with sub-parts.
SECTION - A (Multiple Choice Questions)
1.  Which is an example of an animal found in mountain region ? @))]
a) Leopard b) Yak ¢) Mountain goat d) All of these
2. A ball rolling on the ground shows (1
a) rectilinear motion  b) rotational motion c¢) both (a) and (b)  d) none of these
3. Which of the following can never form a circular shadow? (1)
a) A ball b) A flat disc c¢) A shoe box d) An ice cream cone
4.  Which of the following is a good conductor of electricity? (1)
a) Paper b) Plastic ¢) Wood d) Copper wire
5.  Usha took a lump of dry soil in a glass and added water to it till it was completely immersed. She observed
bubbles coming out. The bubbles contain (1)
a) water vapour b) only oxygen gas c) air d)none of these '
6. A camel’s hump stores which of the following for use in emergency situations? (1)
a) Air b) Water c¢) Carbohydrates d) Fat
7. Shiny appearance of a metal is called (D
a) transparency b) smoothness c) lustre d) solubility
8.  What kind of motion does a pendulum have? ()
a) Periodic motion b) Rotational motion ¢) Rectilinear motion  d) Non — periodic motion
9. A magnet will attract only (1)
a) a copper nail b) a brass screw ¢) an aluminium wire d) a nickel coin
10. Shadow of an object is always seen in (D)
a) blue b) black c) red d) none of these
11. Presence of carbon dioxide in air is useful since it (1)
a) pollute the air  b) is the product of breathing c¢) is essential for photosynthesis d) none of these
12.  Which pair of substances among the following would float in a tumbler half — filled with water? (1D
a) Cotton thread, thermocol b) Safety pin, oil drops
c) Feather, plastic ball d) Rubber band, coin
13.  Among the following, which is not a type of terrestrial habitat? (1)
a) Freshwater b) Grassland c) Desert d) Tundra
14. Eight kilometre is m. (D
a) 800 b) 80 c) 8000 d) 888
15. A device that breaks the electric circuit is called (1)
a) filament b) switch ¢) bulb d) glass
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16. A bar magnet is immersed in a heap of iron filings and pulled out. The amount of iron filings clinging to

the M
a) North pole is almost equal to the South pole b) North pole is much less than the South pole
¢) North pole is much more than the South pole d) magnet will be same all along its length

Directions : Question No. 17 to 20 are Assertion (A) Reason (R) type questions. Choose the correct
option from the following :

(a) Both Assertion (A) and Reason (R) are correct and Reason (R) is the correct explanation of Assertion (A).

(b) Both Assertion (A) and Reason (R) are correct and Reason (R) is not the correct explanation of Assertion (A).
(c) Assertion (A) is true but Reason (R) is false.

(d) Assertion (A) is false but Reason (R) is true.

17. Assertion (A) : Most of the iron filings stick to the magnet at the ends. (1)
Reason (R) : Magnetic strength is maximum on the poles of a magnet.

18. Assertion (A) : Air is an insulator. (1
Reason (R) : Those materials that do not allow electric current to pass through them are called insulators.

19. Assertion (A) : We cannot survive without air. (1)
Reason (R) : Air is not essential for respiration.

20. Assertion (A) : When we look into the mirror, we see our own face inside the mirror. (1)
Reason (R) : Mirror is made of a transparent substance that allows the light to pass through it.

SECTION - B (Very Short Answer Questions)
21.  Name two man — made and two naturally occurring luminous objects. 1)

22.  While measuring the length of a knitting needle, the reading of the scale at one end is 6.0 cm and at the

other end is 66.1 cm. What is the length of the needle? 2)

23.  Why do metals often lose their shine and appear dull? 2)
What are transparent objects? Give two examples. oK

24.  Draw a well-labelled diagram of composition of air. 2)

25.  With the help of neat diagram describe the structure:) of an electric cell. @)
R

Why electricity cannot flow in an open circuit?
26.  Write any two properties of a magnet. (2)

SECTION - C (Short Answer Questions)

27.  How have the camels adapted themselves to live in a desert? (Any 3 points) 3)
28.  Give two examples where an object undergoes two types of motions at the same time. 3)
OR

a) What are the two parts of measurement? Give one example.
b) Why do we have standard units of measurement?

29.a) What is the correct way of storing magnets? 3)
b) Where are the poles of a bar magnet located?

30.  Write an activity to make a paper translucent? 3)

31.  Write three activities that are possible due to the presence of air. 3)

32.2) Write a short note on terminals of the bulb. (3)
b) Distinguish between conductors and insulators. (any one point)

33.  With the help of a neat diagram write an activity to prove that light travels in a straight line. 3)
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34.

X3,

36.

7.

38.

39.

3.
SECTION - D (Long Answer Questions)

a) What is the difference between biotic and abiotic components? Give one example of each.
b) What are the different types of adaptations found in aquatic plants? (Any 3 points)
OR
a) List the common characteristics of the living things. (Any 4 points)
b) How is cactus adapted to survive in a desert? (Any 3 points)

a) Why do mountaineers carry oxygen cylinders with them?
b) Why do earthworms come out of the soil during rainy season?
¢) Which gas in the atmosphere is essential for respiration?
OR
a) Why does a lump of cotton wool shrink in water?
b) How is smoke produced? What does it contain?
¢) What is atmosphere?

a) How do magnets lose their magnetic property? (Any 4 points)

b) What is the difference between natural and artificial magnets? Give one example of each.
OR

a) How is a compass used to find directions? Draw diagram also.

b) Define magnetic materials. Give two examples.

SECTION - E (Case Based Study)

&)

®)

)

Take water in a glass tumbler and add some milk to it. Stir and leave the tumbler still for some time. Milk

and water mixes with each other. Now mix water and coconut oil and stir it. We will observe two

different layers of water and coconut oil. Gases, such as oxygen and carbon dioxide are slightly soluble in

water.

a) Which materials are said to be soluble substances?
b) Give an example of solid object which float on the surface of water.
¢) How do aquatic plants & animals survive in water?
OR
Why water is called an universal solvent?

One day, Leena saw a shadow of bird on the wall of her room. After some time, it disappears. She was

surprised where the bird has gone. Her brother explains that it was nothing as it was the shadow of his
hand.

a) Define shadow.
b) Do you observe your shadow in a dark room or at night when there is no light?
¢) How is a shadow formed?

OR
What are the three things required to create a shadow?

(1
(1)
2) .

¢y
(1
)

Electricity plays a very important role in our day to day life. It is one of the most useful forms of energy.
It lights our homes, heats and cools our rooms. It is used in so many ways that when power supply is off,

our life becomes miserable. It travels along a path through a metal wire coated with plastic or rubber.

a) Define electric circuit.
b) Why are electric wires made from metals?
¢) Why copper and aluminium are used as household wires instead of silver?
OR
Why should an electrician use rubber gloves while repairing an electric switch at your home?

B3G5 DTV
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DELHI PUBLIC SCHOOL, BHILAI

Date:23.02.2024  ANNUAL EXAMINATION 2023-24 Time : 3 Hrs.
Class : Vi Subject : Social Science Max. Marks : 80

General Instructions :

(1) This question paper consists of six sections — A, B, C, D, E and F. There are 38 questions in the Question Paper.

All questions are compulsory.

e Section : A — Question Nos. 1 to 20 carries one mark each.

¢ Section : B — Question Nos. 21 to 26 carries two marks each.

o Section : C — Question Nos. 27 to 31 carries three marks each.

e Section : D — Question No. 32 and 33 are Case Base Study Questions of four marks each.
e Section : E — Question No. 34 to 36 carries 5 marks each with internal choice.

e Section : F — Question No. 37 and 38 are map based question, carrying 5 marks each.

(2) Maps to be attached inside the answer sheet.

01.

-02.
03.

04.

0s.

06.
07.

08.

09.

10.

11.

12.
13.

14.

15.

16.

17.

18.

19.

SECTION — A (Multiple Choice Questions)
A tool used for digging the earth and turning the soil is known as —
(a) Plough (b) Axe (c) Sickle (d) None of these

Lord Buddha encouraged animal sacrifices (True/False)
People in forested regions provided the Mauryan officials with
(a) Timber (b) Wax (c) Elephant (d) All of these
was a word used for large landowners.
(a) Vellalar (b) UR (¢) Adimai (d) Uzavar
He is recognized as the author of the Sanskrit Ramayana.
(a) Valmiki (b) Ved Vyas (¢) Aryabhatta (d) Ilango

Harishena composed a prashasti in praise of Gautamiputra Shri Satakarni. (True/False)

Assertion (A) : Epics are gland long compositions about heroic men and women and includes stories
about Gods and Goddess.
Reason (R) : A famous Tamil epic, the Silappadikaram was composed by a poet named Ilango around
1800 years ago.
(a) Both Assertion (A) and Reason (R) are true, Reason (R) is the correct explanation of Assertion (A).

)
0))

(»
D

1)
)

1)

(b) Both Assertion (A) and Reason (R) are true but Reason (R) is not the correct explanation of Assertion (A).

(c) Assertion (A) is true but Reason (R) is false
(d) Assertion is false but Reason (R) is true.

The major constituent of atmosphere by percent is ‘
(a) Nitrogen (b) Oxygen (¢) Helium (d) Carbon dioxide

The ocean is named after a country

(a) Indian Ocean (b) Atlantic Ocean (c¢) Pacific Ocean (d) Arctic Ocean
Antarctica Continent lies in the hemisphere.

(a) Northern (b) Southern (c) Eastern (d) Western

The palk strait lies between the countries.

(a) Srilanka and Maldives (b) India and Srilanka (c) India and Maldives (d) None of these
The oldest Mountain Range in India is the Himalayan Range. (True/False)

India has a area of about

1)
(1)
)

@
0))

(a) 3.28 million sq. km. (b) 2.28 million of sq. km. (c) 4.28 million sq. km. (d) 5.28 million sq. km. (1)

Assertion (A) : There are seven countries that share land boundaries with India.

Reason (R) : India, Bangladesh, China, Nepal, Bhutan, Pakistan and Maldives are the countries that shares

boundaries with India.
(a) Both Assertion (A) and Reason (R) are true, Reason (R) is the correct explanation of Assertion (A).

M

(b) Both Assertion (A) and Reason (R) are true but Reason (R) is not the correct explanation of Assertion (A).

(¢) Assertion (A) is true but Reason (R) is false
(d) Assertion is false but Reason (R) is true.

The Hindu Succession Amendment Act was passed in the year

(a) 2005 (b) 2006 (c) 2007 (d) 2008

People of Chizami village do cultivation.

(a) Jhum (b) Terrace (c) Tree (d) Slash

How many villages are there in India approximately?

(a) Six lakh  (b) One Lakh (c) Three lakh (d) Four lakh

Patwari is also known as .

(a) Lekhpal (b) Kanungo (¢) Village officier  (d) All of these
Under Municipality a city is divided into

(a) Wards (b) Section (c) Councils (d) Parts

@
)
@
)
)
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20.

21.
22.
23.
24.
25.
26.

27

28.
29.
30.
31.

32.

33.

34.

35.

36.

37.

38.

e
Assertion (A) : There are a wide range of responsibilities that municipal corporation undertakes.
Reason (R) : Municipal Corporation is responsible for ensuring sanitation, proper running of school,
hospitals etc. 1)
(a) Both Assertion (A) and Reason (R) are true, Reason (R) is the correct explanation of Assertion (A).

(b) Both Assertion (A) and Reason (R) are true but Reason (R) is not the correct explanation of Assertion (A).
(c) Assertion (A) is true but Reason (R) is false
(d) Assertion is false but Reason (R) is true.

SECTION - B (Answer the Following Questions)

In what ways was the city of Dholavira different from other Harappan cities? 2)
What are the two main features of Megalith burials? (2)
What are the four cardinal directions? (2)
Which two major rivers fall into the Arabian Sea? )
What is the Work of Police? 2)
Name any two non-farming activities performed by the rural people of ‘Kalpattu’. 2)
SECTION - C (Answer the following in brief)
What does Puranas contain? 3
OR

Write three characteristic features of Hindu Temples.

Describe briefly about the three assemblies mentioned in the Pallava inscriptions. 3)

Why do large numbers of people live in northern plains? 3)

Draw a neat and labelled diagram of Biosphere. 3)

In what ways is a permanent or regular job different from a casual job? Discuss. 3)

OR

Write three differences between a street vendor and a shop keeper.

SECTION - D (Case Study Based Questions)
Ashoka was one of the greatest rulers known to history and on his instructions inscriptions were inscribed
on pillar as well on rock surfaces. The Mauryan empire that Ashoka ruled was founded by his grandfather,
Chandragupta Maurya, more than 2300 years ago. Chandragupta was supported by a wiseman named
Chanakya or Kautilya. Many of his ideas were written down in a book named the Arthashastra.

(a) Name the founder of Mauryan Empire. 1)
(b) Name the wise man who supported King Ashoka. 1)
(c) Where were Ashoka’s inscriptions inscribed? 2)

The Municipal Corporation is also responsible for ensuring that diseases do not break out in the city. It
also runs schools, hospitals and dispensaries and makes gardens and maintains them. The city is divided
into different wards and ward councillors get elected. The complicated decisions that affect the entire city
are taken by group of councillors who form committees to decide and debate issues. In smalier towns itis
called Municipal Council.

(a) Who takes the complicated decisions that affect the entire city? 1)

(b) What is the Municipal Corporation called in smaller towns? (1)

(c) Mention any two works of a Municipal Corporation. )

SECTION - E (Long Answer Type Questions)
Write a short note on Satavahana Rulers. )
OR
What are the main features of Bhakti?
Why is Lakshadweep known as Coral Island? Q)
OR

Name any two major domains of earth? Why is biosphere important for living organisms? (2+3=5)

Who is a Municipal commissioner? How does the municipal corporation earn the money to do its work?
(2+3=5)

OR

What is the work of Tehsildar? How do women benefit under the New Law (Hindu Succession
Amendment Act)?

SECTION - F (Map Based Questions)

Locate and label the following places on the given political map of India. (Any five) (1x5=5)
(i) Delhi (ii) Mahabalipuram (iii) Valabhi

(iv) Patliputra (v) Ujjain (vi) Amravati

Locate and label the following on political map of India. (Any five) (1x5=5)
(i) The Great Indian Desert — Thar (ii) The Western Coastal Plain

(iii) The Aravalli Range (iv) River Narmada

(v) Andaman and Nicobar Islands (vi) The Himalayas
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DELHI PUBLIC SCHOOL, BHILAI

Date : 14.02.2024 ANNUAL EXAMINATION 2023-24 Time : 1 % Hrs.

Subject : Information and Communication Technolo
Class : Vi } (1cm) L Max. Marks : 50

Multiple Choice Questions 1x10=10
(1) Which of the following components of the Tupi 2D has the color palette ?

(a) left side bar (b) bottom side (c) right side bar (d) exposure sheet
(2) The animation news and player buttons are located on the

(a) menu bar (b) modules tab (c) workspace (d) none of these
(3) A flowchart is a graphical representation of a

(a) program (b) symbol (c) algorithm (d) none of these
(4) A computer programmer draw a ------- before writing a computer program.

(a) chart (b) scenery (c) flowchart (d) syntax
(5) Which key is used to run a program in BASIC 256 2

(a) enter (b) F10 (c) F5 (d) F12
(6) A variable that contains a whole number

(a) string (b) integer (c) boolean (d) real number
(7) Which of the following are used to hold values ?

(a) blocks (b) operators (c) variable (d) sprites
(8) Which types of operators are used to compare two variables ?

(a) mathematical (b) relational (c) logical (d) assignment
(9) Which of the following is a way of achieving AI ?

(a) machine learning (b) decision tree (c)botha & b (d) none of these

10) Which Al model approach uses a series of if-else statements that helps a computer to take decision ?
p
(@) learning based approach (b) rule based approach
(¢) machine learning (d) none of there

Fill in the blank 1x5=5

(1) ---------- is used to manage the frames and layers in Tupi 2D.
(2) A good flowchart will use --------- symbols.

(3) The ==mmmm-mn statement is used to display output.

(4) In Scratch, the variable can be created using -------- blocks.
(5) Siri, Alexa and chatbots are example -----------

State True / False 1x5=5

(1) Exposure sheet component contains the timeline panel.
(2) Algorithm and Flowchart are the same thing.

(3) FORTRAN language is a first generation language.
(4) We can perform comparison operations in Scratch.

(5) The aim of Al is to reproduce the human attributes of logical intelligence, reasoning and knowledge
acquirement in machines.

Answer the following questions.
(1) What is animation ?
(2) What is meant by a flowchart ?
(3) What is LLL and HLL ?
(4) What do you mean by intelligence ?
(5) Define the learning based approach in detail.
(6) Write the names of different operators used in scratch.
(7) Write the advantages of High Level Language ?
(8) Write any 3 features of Tupi 2D software.
(9) Describe the use of the process and the Input / Output symbols in the flowcharts.

B i W W W W NN NN

(10) Define rule based approach and verbal-linguistic intelligence.
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General Instructions:

° All the questions are compulsory. There are 50 questions of 1 mark each.
o Answer the MCQs by writing the correct option number in the space provided.
Q.1 FILLINTHE BLANKS : 10)

(a) World’s highest peak
(b) The author of Gulliver’s travels.

(c) handicraft means ‘sewing with gold’.

(d) is a village in Maharashtra that has no doors.

(e) provides easy access to information from all over the world at any time.

(f) Living tree root bridge is situated in city of India.

(2) is 151 feet tall and the global icon of USA.

(h) is the therapeutic practice involves inserting very fine needles into

skin to stimulate specific points in the body.
(i) Largest inhabited castle is

() The shortest complete sentence in the English language is

Q.II IDENTIFY THE FOLLOWING PICTURES AND WRITE THEIR NAMES IN THE GIVEN
BLANKS: (6)

L

(@ ®
Q.III CHOOSE THE CORRECT OPTION: 7
(i) It is the tallest building in the world.
(a) Burj Khalifa (b) Qutub Minar (c) Eiffel tower
(ii) Phulkari embroidery belong to which state?
(2) Bihar (b) Punjab (c) Gujarat
(iii) Which of these is/are endangered animal(s)?
(a) snow leopard (b) .Java rhino (¢) both (a) and (b)
(iv) What is the new name of Bombay?
(a) Laos (b) Kolkata (¢) Mumbai
(v) The world's largest mosque is:
(a) Jama Masjid (b) Masjid Al-haram (¢) Masjid Nabawi
(vi) An Indian chess grandmaster and the former world chess champion, he is the first sportsman
to receive the Padma Vibhushan ,India's second highest civilian award.
(a) Geet Sethi (b) Gagan Narang (c) Vishwanathan Anand

(vii) The world champion in snooker and billiards from India, he is awarded the Rajiv Gandhi Khel

Ratna, India's highest sporting honour.
(a) Geet Sethi (b) Pankaj Advani (¢) Leander Peas
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Q.IV  NAME THE FOLLOWING:

(a) It is the largest single stone statue
(b) It is the largest church

(c) The longest English word without any vowel

(d) What building has the most stories?

(e) What is white when it's dirty?

(10)

(f) “Genius is one percent inspiration and ninety nine percent perspiration.” These famous words were

said by —

(8) The first Black president of South Africa. He was imprisoned for 27 years for fighting apartheid. He

was awarded the Bharat Ratna (1990) and the Nobel prize (1993).

«(h) Itis an elliptical amphitheatre, the largest ever built in the Roman empire, used for entertainment. It

has the seating capacity of 50000 spectators.

(i) Which method of treatment uses flower extracts and pleasant smelling botanical oil such as Rose,

lemon and lavender?

() Which form of yoga inculcates the principle of controlled breathing?

Q.V SOLVE THE FOLLOWING: - )
T2 8 s ) o™i | 1s
@ '\ ie 8 { % 40 | 20 SN, 2 | az _/ Ans.
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Q.VI MATCH THE FOLLOWING (10)
Column A Column B
(i) Smog (i) chlorofluorocarbon released
by AC, refrigerators etc. @)
(i) CFC (i1) harmful to organisms (i1)
(iii) inorganic (iii) not capable of being broken
down by organisms into
inorganic compounds (ii1)
(iv) toxic (iv) substances of mineral origin,
not containing carbon or its
compounds (iv)
(v) SPM (v) the mixture of fog and smoke (v)
(vi) non-biodegradable (vi) the gases released by the
combustion of a fuel in the
atmosphere (vi)
(vil) emission (vii) suspended particulate matter
thatleagto lung cancer (vii)
(viii) Magnetic hill (viii) World’s largest Film City
located in Hyderabad (viii)
(ix) Ramoji Film City (ix) defies the laws of gravity  (ix)
(x) Andreas Vesalius (x) first to dissect a human body (x)
Q.VII CURRENT AFFAIRS ®

(a) Name the current Chief Minister of Chhattisgarh.

(b) Name the Vice President of India.

(c) Which award has the famous cricketer Mohammed Shami received recently?
(d) On which date was the consecration of Shri Ram temple of Ayodhya held?

(e) Name the India’s longest sea bridge which was inaugurated on 12 January 2024.
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